Vedant ®Public School

Isanpur, Ahmedabad
Std:- 9" Annual Exam Paper Style — 2018-19

= English
Full course

Section- A

Q.1  (A) Reading comprehension.

Q.1  (B) Answer the following questions one word.
Q.1  (C) answer the following question brief.
Section—B

Q.2 (A) Answer the following questions one word.
Q.2  (B) answer the following question brief.
Section — C (Grammar )

Q.3  (A) Direct indirect speech.

Q.3  (B) Active Passive

Q.3  (C) Transformation

Q.3 (D) Figure of speech

Q.3 (E) Fill in the blanks. (Tenses)

Section -D

Q4 (A) Essay

Q.4  (B) Notice writing

= Science

Full Course

Section - A

Very short answer. (1 mark each)
Section-B

Short answer (2 marks each)
Section- C

Long answer (3 marks each)
Section- D

Very long answers. (4 marks each)

= Social Science (Ch-3,4,5,6,7,9,10,11,12,16,17,18,19,20)
Section- A

Q.1  (A) Choose the correct option.

Q.1  (B) Fill in the blanks.

Q.1  (C) True or False.

Q.1 (D) Matching

Section- B

Q.2 (A) Answer the following questions.

Q.2  (B) Complete the following statement by giving reasons.

Q.2 (C) Write about following character.(any 1)

Q.2 (D) Answer the following question in one word.
Section - C

Q.3 (A) Answer he following question.

Q.3 (B) Give reason (any 2)

Q.3  (C) Difference

Section- D

Q.4  (A) Answer the following questions.

Q.4 (B) Map work
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= Maths (Chapters 1 to 15)

Q.1  Solve the following. (1 marks each) (16)
Q.2  Solve the following. (2 marks each) (20)
Q.3 Solve the following. (3 marks each) (24)
Q.4  Solve the following. (4 marks each) (20)

= s valdl Ch-11 to 23

Qewot — A [ual (Qewoat]

Q.1 AUA @scu uie s3la A@ull. [05]
Q.2  o{lAsll Ystoll A5 AGEHL Gl AL [05]
Q.3  ollAoll Ystoll A-2QL clsAHL Bl . [04]
Q4  ollAsll Ystall UQAd Gl WL [03]
(Qewdot — B [o1al (Aewat]
Q.5 URA @scu uie s3la dull. [05]
Q.6  ollAcll Ystoll A5 AGEHL Bl L. [05]
Q.7  o{lAsll Ysloll A-2RL cllsAHL Gl A [04]
Q.8  ollAsll Ystoll UARAA Gl WL [03]
(Qewdt - ¢ [caus2wl (Qewat]
Q.9 MU YHIA AWl [25]
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Q.13 3gare

Q.14 9F 37YdT FHgll
Q.15 fser
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Make Questions

Unread Paragraph

Write Answer in English
Translation (poem)
Translation (Prose)
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Explanation

Avyaya

Write Answer in Sanskrit
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